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ĐỀ THI THỬ SỐ 11 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs 

from the other three in pronunciation in each of the following questions. 

Question 1: A. ghost   B. hostage   C. lost   D. frosty 

Question 2: A. sovereign  B. fountain   C. determine  D. routine 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three 

in the position of primary stress in each of the following questions. 

Question 3: A. preventive  B. literature   C. measurement  D. temperature 

Question 4: A. popularity  B. advantage   C. magazine   D. documentary 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction 

in the each of following questions. 

Question 5: As (A) every other (B) nation, the United States used to define (C) its (D) unit of currency, the 

dollars, in terms of the gold standard.  

Question 6: The dentistry (A) is a branch of (B) medicine that (C) has developed very dramatically (D) in 

the last twenty years. 

Question 7: The world (A) would look eerie (B) different (C) if human eyes were sensitive to infrared 

radiation (D). 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the 

following questions. 

Question 8. His friends and family left him in the ______ when he went bankrupt. 

A. church  B. lurch  C. end   D. street  

Question 9. Can you hold the ladder ______ while I climb up and pick the apples? 

A. steady  B. rigid  C. solid  D. firm  
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Question 10. "Frankly, I couldn't care less!", he said with a ______ of his shoulders. 

A. twitch  B. flick  C. hunch  D. shrug 

Question 11. This class seems to have only ______ knowledge of what they are supposed to achieve. 

A. smattering  B. rudimentary C. comprehensive D. faded  

Question 12. The whole country is up in ______ about the new tax the government has put on books. 

A. arms  B. fists   C. anger  D. rage  

Question 13. I am not sure ______ the green coat is. 

A. who's   B. who    C. whose   D. whom 

 

Question 14. At the hospital, I was told that ______ I gave up smoking immediately, my illness would get 

much worse. 

A. except   B. until  C. without   D. unless 

Question 15. She acted ______ she had never seen me before, when I'd just met her at lunch. 

A. as    B. since  C. even though  D. as though 

Question 16. Steve Davis, ______ won the trophy last year, is already out of this year's competition. 

A. who    B. that   C. he     D. x 

Question 17. It was ______ a simple question that everyone answered it corrrectly. 

A. so    B. such  C. much   D. too 

Question 18. She wondered ______ her father looked like now, after so many years away. 

A. how   B. whose  C. that    D. what 

Question 19. As soon as the fire alarm rang, everyone walked quickly downstairs and out of building 

______ gathered in the car park. 

A. while   B. then   C. before   D. to  

 

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete 

each of the following exchanges. 

Question 20: – “How wide is this street? – “______” 

A. It‟s 20 meters wide.    B. It‟s wide 20 meters. 

C. It‟s 20 meters in wide.    D. It‟s in wide 20 meters. 
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Question 21:. – “______ detective stories?”– “In my opinion, they‟re good for teenagers.” 

A. What do you think about   B. Are you fond of 

C. How about     D. What do people feel about 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the 

underlined word(s) in each of the following questions. 

Question 22: The attack was in reprisal for the decapitation of their prince. 

A. accusation  B. delay  C. retaliation   D. closure 

Question 23: These small companies now have their own discrete identity. 

A. creditable  B. absurd C. extravagant  D. distinct 

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the 

underlined word(s) in each of the following questions. 

Question 24: By some tacit consent, throughout the voyage little or no allusion was made to the incident, 

especially by the sailors. 

A. grand   B. explicit  C. illegal  D. messy  

Question 25: I must look like the typical tourist with my shorts and my camera. 

A. common  B. abnormal  C. familiar  D. unremarkable 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to 

each of the following questions. 

Question 26: No matter how hard Fred tried to start the car ,he didn‟t succeed. 

A. It‟s hard for Fred to start the car because he never succeeded. 

B. Fred tried very hard to start the car, and succeeded. 

C. However hard Fred tried ,he couldn‟t start the car. 

D. Fred tried hard to start the car, and with success. 

Question 27: You‟re the worst guitarist in the world. 

A. No one else in the world plays the guitar as badly as you. 

B. No one else in the world plays the guitar as well as you. 

C. No one else in the world plays the guitar as good as you. 

D. No one else in the world plays the guitar as worst as you. 
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Question 28: It was a waste of time writing a letter. 

A. I needn‟t time to write that letter. 

B. I needn‟t have written that letter. 

C. I needn‟t write that letter. 

D. I needn‟t to write that letter. 

 

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair 

of sentences in the following questions. 

Question 29: We got stuck in weekend crowds today. We will shop late on weekdays next time. 

A. We would rather shop late on weekdays than get stuck in weekend crowds again. 

B. We would rather shopping late on weekdays than getting stuck in weekend crowds again. 

C. We would rather shopped late on weekdays than got stuck in weekend crowds again. 

D. If we had shopped late on weekdays, we wouldn‟t get stuck in weekend crowds today. 

Question 30: Milk must be moved rapidly from the farm to the consumer. Milk will spoil if it is not kept 

cold. 

A. Milk must be moved rapidly from the farm to the consumer and kept cold so that it will not spoil. 

B. Milk must be moved rapidly from the farm to the consumer and kept cold to not spoil. 

C. Milk must be moved rapidly from the farm to the consumer and kept cold in case it spoils. 

D. Milk must be moved rapidly from the farm to the consumer and kept cold lest it will not spoil. 

 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the 

correct word or phrase that best fits each of the numbered blanks from 31 to 35. 

______(31) is the safeguarding and preservation of natural ______(32), so that they can continue to 

be used and enjoyed. In the past, most people believed that the world‟s resources could never be 

______(33). Today, we know that this is not true. An important part of conservation is the ______(34) of 

waste - waste of forests, soil, minerals, wild-life, and human lives. As important is the fight against 

pollution of our environment, in particular, the dirtying and poisoning of air and water. Conservation is 

also concerned ______(35) the reclaiming of land by irrigating deserts, draining swamps, or pushing back 

the sea.  

 

Question 31: A. Pollution  B. Environment  C. Conservation  D. Conversation  

Question 32: A. resources  B. sources   C. rotation   D. recycle 
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Question 33: A. abused B. extracted  C. exhausted   D. destroyed  

Question 34: A. pollution B. preservation C. prevention   D. protection  

Question 35: A. to   B. with   C. on    D. of 

 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the 

correct answer to each of the questions from 36 to 42. 

According to the controversial sunspot theory, great storms on the surface of the sun hurl streams 

of solar particles into the atmosphere, causing a shift in the weather on earth.  

A typical sunspot consists of a dark central umbra surrounded by a lighter penumbra of light and 

dark threads extending out from the center like the spokes of a wheel. Actually, the sunspots are cooler 

than the rest of the photosphere, which may account for their color. Typically, the temperature in a sunspot 

umbra is about 4000 K, whereas the temperature in a penumbra registers 5500 K, and the granules outside 

the spot are 6000 K.  

Sunspots range in size from tiny granules to complex structures with areas stretching for billions of 

square miles. About 5% of the spots are large enough so that they can be seen without instruments; 

consequently, observations of sunspots have been recorded for several thousand years.  

Sunspots have been observed in arrangements of one to more than one hundred spots, but they tend 

to occur in pairs. There is also a marked tendency for the two spots of a pair to have opposite magnetic 

polarities. Furthermore, the strength of the magnetic field associated with any given sunspot is closely 

related to the spot‟s size.  

Although there is no theory that completely explains the nature and function of sunspots, several 

models attempt to relate the phenomenon to magnetic fields along the lines of longitude from the north and 

south poles of the sun. 

 

Question 36: What is the author‟s main purpose in the passage? 

A. To propose a theory to explain sunspots 

B. To describe the nature of sunspots 

C. To compare the umbra and the penumbra in sunspots 

D. To argue for the existence of magnetic fields in sunspots 

 

Question 37: The word “controversial” in line 1 is closest in meaning to ______. 

A. widely accepted     B. open to debate 

C. just introduced     D. very complicated 
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Question 38: Solar particles are hurled into space by ______. 

A. undetermined causes  

B. disturbances of winds 

C. small rivers on the surface of the sun  

D. changes in the earth‟s atmosphere 

 

Question 39: The word “particles” in line 2 refers to ______. 

A. gas explosions in the atmosphere  

B. light rays from the sun 

C. liquid stream on the sun  

D. small pieces of matter from the sun 

 

Question 40: The sunspot theory is _____. 

A. not considered very important  

B. widely accepted 

C. subject to disagreement 

D. relatively new 

 

Question 41: The word “consequently” in line 10 could best be replaced by _____. 

A. as a result     B. nevertheless   

C. without doubt     D. in this way 

 

Question 42: In which configuration do spots usually occur? 

A. In one spot of varying size    

B. In a configuration of two spots 

C. In arrangements of one hundred or more spots  

D. In groups of several thousand spots 
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Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the 

correct answer to each of the questions from 43 to 50. 

Fifty-five delegates representing all thirteen states except Rhode Island attended the Constitutional 

Convention in Philadelphia from May to September 1787. The delegates had been instructed by the 

Continental Congress to revise the old Articles of Confederation, but most believed that a stronger central 

government was needed. There were differences, however, about what structure the government should 

take and how much influence large states should have.  

Virginia was by far the most populous state, with twice as many as people as New York, four times 

as many as New Jersey, and ten times as many as Delaware. The leader of the Virginia delegation, James 

Madison, had already drawn up a plan for government, which became known as the Large State Plan. Its 

essence was that congressional representation would be based on population. It provided for two or more 

national executives. The smaller states feared that under this plan, a few large states would lord over the 

rest. New Jersey countered with the Small State Plan. It provided for equal representation for all states in a 

national legislature and for a single national executive. Angry debate, heightened by a stifling heat wave, 

led to deadlock.  

A cooling of tempers seemed to come with lower temperatures. The delegates hammered out an 

agreement known as the Great Compromise – actually a bundle of shrewd compromises. They decided that 

Congress would consist of two houses. The larger states were granted representation based on population 

in the lower house, the House of Representatives. The smaller states were given equal representation in the 

upper house, the Senate, in which each state would have two senators regardless of population. It was also 

agreed that there would be a single executive, the president. This critical compromise broke the logjam, 

and from then on, success seemed within reach. 

 

Question 43: What is the main topic of this passage? 

A. James Madison‟s plan to create a stable structure for the government of the United States 

B. The differences in population and relative power between the original states 

C. A disagreement at the Constitutional Convention and a subsequent compromise 

D. The most important points of the Small State Plan 

Question 44: It can be inferred from the passage that ______. 

A. every state in the country is larger than Delaware 

B. Delaware has no right at the Constitutional Convention 

C. Virginia is ten times larger than Delaware 

D. Delaware has a small population compared to Virginia, New Jersey, New York. 
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Question 45: It can be inferred from the passage that the Articles of Confederation ______. 

A. allowed small states to dominate large ones 

B. provided for only a weak central government 

C. were revised and presented as the Large State Plan 

D. were supported by a majority of the delegates at the Convention 

 

Question 46: According to the passage, in 1787 which of the following states likely had the FEWEST 

people? 

A. New York   B. Delaware   C. New Jersey   D. Virginia 

 

Question 47: In line 10, the phrase “this plan” (paragraph 2) refers to ______. 

A. a plan suggested by the national legislature 

B. the Small State Plan 

C. a compromise plan 

D. the Large State Plan 

 

Question 48: According to the passage, the weather had what effect on the Constitutional Convention? 

A. Cold temperatures made Independence Hall an uncomfortable place to work 

B. Hot weather intensified the debate while cooler weather brought compromise 

C. Bad weather prevented some of the delegates from reaching Philadelphia 

D. Delegates hurried to achieve an agreement before winter arrived 

Question 49: Which of the following is NOT given in the passage as one of the provisions of the Great 

Compromise? 

A. Each state would have two senators 

B. Congress would be divided into two bodies 

C. There would be only one national executive 

D. The president would be elected by popular vote 

Question 50: The author uses the phrase broke the logjam (paragraph 3) to indicate that 

______. 

A. the Convention came to a sudden end 
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B. the situation had become desperate 

C. the government was nearly bankrupt 

D. some major problems had been solved 

  

KEYS 

 

1. A 

2. D 

3. A 

4. B 

5. A 

6. A 

7. B 

8. B 

9. A 

10. D 

11. B 

12. A 

13. C 

14. D 

15. D 

16. A 

17. B 

18. A 

19. B 

20. A 

21. A 

22. C 

23. D 

24. B 

25. B 

26. D 

27. A 

28. B 

29. A 

30. A 

31. C 

32. A 

33. C 

34. C 

35. B 

36. B 

37. B 

38. B 

39. D 

40. C 

41. A 

42. B 

43. C 

44. D 

45. B 

46. B 

47. D 

48. B 

49. D 

50. D 

 

KEY & GIẢI THÍCH 

 

1. A 

ghost /ɡəʊst/ 

hostage /ˈhɒstɪdʒ/ 

lost /lɒst/ 

frosty /ˈfrɒsti/ 

 

2. D 

sovereign /ˈsɒvrɪn/ 

fountain /ˈfaʊntɪn/ 

determine /dɪˈtəːmɪn/ 

routine /ruːˈtiːn/ 

 

3. A 

pre‟ventive (adj) 

„literature (n) 

„measurement (n) 

„temperature (n) 

 

4. B 
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popu‟larity (n) 

ad‟vantage (n) 

maga‟zine (n) 

docu‟mentary (n) 

5. A 

as (prep): nhƣ là, với tƣ cách là 

like (prep): giống nhƣ 

Chữa lỗi: As  Like 

Dịch: Giống nhƣ mọi quốc gia khác, nƣớc Mỹ từng xác định đơn vị tiền tệ của mình, đồng đô-la, dựa trên 

bản vị vàng. 

 

6. A 

dentistry (n): nha khoa  tên ngành/nghề, không sử dụng mạo từ xác định “the” 

Chữa lỗi: The dentistry  Dentistry 

Dịch: Nha khoa là một nhánh của y học mà đã phát triển một cách rất đáng kể trong vòng 20 năm qua. 

 

7. B 

eerie (adj): lạ lùng, kỳ lạ 

eerily (adv): một cách kỳ lạ 

The world would look ___ different…  chỗ trống cần là adv, bổ nghĩa cho different (adj) 

Chữa lỗi: eerie  eerily 

Dịch: Thế giới sẽ trông khác MỘT CÁCH KỲ LẠ nếu mắt ngƣời nhạy cảm với bức xạ hồng ngoại. 

 

8. B 

leave sb in the lurch (idiom): bỏ rơi ai (trong lúc khó khăn) 

Dịch: Gia đình và bạn bè bỏ rơi anh ta khi anh ta bị phá sản. 

 

9. A 

steady (adj):vững vàng, chắc chắn; thăng bằng 

rigid (adj): cứng nhắc, cứng rắn (hay dùng để nói về quan điểm) 

solid (adj): rắn, chắc chắn (hay dùng để nói về chất rắn) 

firm (adj): chắc chắn; kiên định 

Dịch: Cậu có thể giữ cái thang THĂNG BẰNG trong lúc tớ trèo lên hái táo đƣợc không? 

 

10. D 

twitch (n): sự nhếch, giật, co rút 

flick (n): cái hất; cái búng tay 

hunch (n): sự khom (lƣng); linh cảm 

shrug (n): cái/sự nhún vai 

Dịch: “Thẳng thắn mà nói, tôi chẳng quan tâm đâu!”, anh ấy nói với một CÁI NHÚN VAI. 

11. B 
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smattering (n): một số ít, sự ít ỏi 

rudimentary (adj): sơ sơ, sơ lƣợc 

comprehensive (adj): toàn diện, bao quát 

faded (adj): nhạt (màu) 

Cần điền adj đứng trƣớc và bổ nghĩa cho knowledge (n)  Loại đáp án A 

Theo nghĩa của câu (dấu hiệu “only”)  Chọn đáp án B 

Dịch: Lớp này dƣờng nhƣ chỉ có hiểu biết SƠ LƢỢC về những gì họ cần đạt đƣợc. 

 

12. A 

be up in arms about sth (idiom): bất bình/ phản đối điều gì 

Dịch: Cả nƣớc đang phản đối thuế mới mà chính phủ áp đặt lên sách. 

 

13. C 

whose + N: cái gì của ai 

Dịch: Tôi không chắc chiếc áo khoác xanh lục là CỦA AI. 

 

14. D 

except: ngoại trừ 

until: cho tới khi 

without: mà không, không có 

unless: trừ phi, nếu không 

Dịch: Ở bệnh viện, tôi đã đƣợc bảo rằng, NẾU tôi KHÔNG bỏ hút thuốc ngay lập tức, bệnh tình của tôi sẽ 

tệ đi rất nhiều. 

 

15. D 

as: bởi vì; nhƣ là, với tƣ cách là 

since: bởi vì; từ khi 

even though: mặc dù 

as though (= as if): nhƣ thể là 

Dịch: Cô ta hành xử NHƢ THỂ LÀ chƣa từng gặp tôi trƣớc đó, trong khi tôi mới gặp cô ta vào bữa trƣa. 

 

16. A 

Dịch: Steve Davis, NGƢỜI MÀ đã thắng đƣợc cúp năm ngoái, đã bị loại khỏi/ra khỏi cuộc thi năm nay rồi. 

Sau dấu phẩy không dùng đại từ quan hệ THAT  Chọn WHO (tƣơng ứng với chủ từ Steve Davis). 

17. B 

Cấu trúc: 

so + adj/adv: rất… 

such + NP = so + adj + a/an + N: thật là… 

so/ such… + that SVO: thật là… tới nỗi mà… 

too adj to V: quá… để làm gì 

 “It was such a simple question that…” 

Dịch: Đó thật là một câu hỏi dễ tới nỗi mà mọi ngƣời đều đã trả lời đúng. 
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18. A 

Dịch: Cô ấy băn khoăn/ tự hỏi không biết cha mình giờ trông NHƢ THẾ NÀO, sau nhiều năm xa cách. 

 

19. B 

Dịch: Ngay khi chuông báo cháy kêu, mọi ngƣời nhanh chóng đi xuống thang bộ và ra khỏi toà nhà SAU 

ĐÓ tập trung tại bãi đỗ xe. 

 

20. A 

- Con phố này rộng chừng nào vậy? 

- Nó rộng 20 mét. 

 

21. A 

A. Bạn nghĩ gì về 

B. Bạn có thích 

C. Thế còn 

D. Mọi ngƣời nghĩ gì về 

Dịch: 

- Bạn nghĩ gì về truyện trinh thám? 

- Theo tôi, chúng có ích cho thanh thiếu niên. 

 

22. C 

accusation (n): sự cáo buộc, lời buộc tội 

delay (n): sự trì hoãn, sự chậm trễ 

retaliation (n) = reprisal (n): sự trả thù 

closure (n): sự đóng cửa, sự kết thúc 

Dịch: Cuộc tấn công là để trả thù cho việc chém đầu hoàng tử của họ. 

 

23. D 

creditable (adj): đáng tin, có uy tín 

absurd (adj): vô lý, phi lý 

extravagant (adj): xa hoa, hoang phí; distinct (adj) = discrete (adj): riêng biệt 

Dịch: Các công ty nhỏ này giờ đã có danh tính riêng biệt của riêng mình 

24. B 

grand (adj): lớn, vĩ đại  

explicit (adj): minh bạch, rõ ràng >< tacit (adj): ngầm hiểu, ngấm ngầm 

illegal (adj): bất hợp pháp 

messy (adj): lộn xộn, bừa bộn 

Dịch: Nhờ một số sự đồng ý ngầm, xuyên suốt cuộc hành trình biển, đã có ít hoặc không có sự ám chỉ/nói 

bóng gió nào về sự việc đó, nhất là bởi các thuỷ thủ. 

 

25. B 

common (adj): phổ biến, phổ thông; thông thƣờng 
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abnormal (adj): khác thƣờng, dị thƣờng >< typical (adj): điển hình, tiêu biểu, đặc trƣng 

familiar (adj): thân quen, quen thuộc 

unremarkable (adj): không đáng kể, không nổi bật 

Dịch: Tôi hẳn là trông giống một khách du lịch điển hình với quần cộc và máy ảnh của mình. 

 

26. C 

Đề: Cho dù Fred có cố gắng khởi động chiếc xe đến đâu, thì anh ấy vẫn không thành công 

A. Rất khó cho Fred để khởi động chiếc xe vì anh ấy chƣa bao giờ thành công. 

B. Fred đã rất cố gắng để khởi động chiếc xe, và anh ấy đã thành công. 

C. Cho dù Fred có cố gắng, anh ấy vẫn không thể khởi động chiếc xe. 

D. Fred đã rất cố gắng để khởi động chiếc xe, và anh ấy đã thành công 

 

27. A 

Đề: Cậu là ngƣời chơi đàn ghi-ta tồi nhất thế giới. 

A. Không ai khác trên thế giới chơi đàn ghi-ta tệ nhƣ cậu. 

B. Không ai khác trên thế giới chơi đàn ghi-ta giỏi nhƣ cậu. 

C. Không ai khác trên thế giới chơi đàn ghi-ta tệ nhƣ cậu. 

D. Không ai khác trên thế giới chơi đàn ghi-ta tệ nhất nhƣ cậu. 

Xét về nghĩa, đáp án A và C đều đúng, tuy nhiên: 

“… plays the guitar as ___ as you.”  Chỗ trống phải là adv, bổ nghĩa cho plays (v) 

 Loại đáp án C. 

 

28. B 

Đề: Đó đã là một sự lãng phí thời gian khi viết thƣ. 

A. Tôi không cần thời gian để viết bức thƣ đó. 

B. Tôi đáng ra không cần phải viết bức thƣ đó. (không cần nhƣng đã làm) 

C. Tôi không cần viết bức thƣ đó. 

D. (sai cấu trúc) 

 

29. A 

Đề: Chúng tôi đã bị kẹt trong đám đông cuối tuần hôm nay. Chúng tôi sẽ mua sắm muộn vào ngày thƣờng 

lần tới. 

A. Chúng tôi thà mua sắm muộn vào ngày thƣờng còn hơn bị kẹt trong đám đông cuối tuần một lần nữa. 

Cấu trúc: would rather do sth than do sth 

 Đáp án B và C sai cấu trúc. 

D. Nếu chúng tôi đã mua sắm muộn vào ngày thƣờng, chúng tôi sẽ không bị kẹt trong đám đông cuối tuần 

hôm nay. (câu điều kiện loại mix, không thích hợp vì ta cần câu điều kiện loại 3) 

 

30. A 

Đề: Sữa cần đƣợc chuyển nhanh chóng từ nông trại tới ngƣời tiêu dùng. Sữa sẽ hỏng nếu nó không đƣợc 

giữ lạnh. 
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A. Sữa cần đƣợc chuyển nhanh chóng từ nông trại tới ngƣời tiêu dùng và đƣợc giữ lạnh để nó không hỏng. 

B. Sữa cần đƣợc chuyển nhanh chóng từ nông trại tới ngƣời tiêu dùng và đƣợc giữ lạnh để không hỏng. 

C. Sữa cần đƣợc chuyển nhanh chóng từ nông trại tới ngƣời tiêu dùng và đƣợc giữ lạnh phòng trƣờng hợp 

nó hỏng. 

D. Sữa cần đƣợc chuyển nhanh chóng từ nông trại tới ngƣời tiêu dùng và đƣợc giữ lạnh để tránh nó không 

hỏng. 

 

31. C 

pollution (n): sự ô nhiễm 

environment (n): môi trƣờng 

conservation (n): sự bảo tồn 

conversation (n): cuộc hội thoại 

Dịch: SỰ BẢO TỒN là sự bảo vệ và gìn giữ … tự nhiên, để chúng có thể tiếp tục đƣợc sử dụng và tận 

hƣởng. 

 

32. A 

resource (n): nguồn lực, nguồn tài nguyên 

source (n): nguồn 

rotation (n): sự xoay vòng, luân chuyển 

recycle (v): tái chế 

Dịch: Sự bảo tồn là sự bảo vệ và gìn giữ CÁC NGUỒN TÀI NGUYÊN thiên nhiên, để chúng có thể tiếp 

tục đƣợc sử dụng và tận hƣởng. 

 

 

 

 

 

33. C 

abuse (v): lạm dụng, sử dụng sai; ngƣợc đãi 

extract (v): chiết suất; giải nén 

exhaust (v): sử dụng hết; làm kiệt sức 

destroy (v): phá huỷ 

Dịch: Trong quá khứ, đa só mọi ngƣời đã tin rằng các nguồn tài nguyên của thế giới không bao giờ có thể 

bị SỬ DỤNG HẾT. 

 

34. C 

pollution (n): sự ô nhiễm 

preservation (n): sự bảo tồn, sự gìn giữ 

prevention (n): sự phòng tránh, sự ngăn ngừa 

protection (n): sự bảo vệ 
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Dịch: Một phần quan trọng của sự bảo tồn là PHÒNG TRÁNH lãng phí – lãng phí rừng, đất đai, khoáng 

sản, đời sống hoang dã, và mạng sống con ngƣời. 

 

35. B 

concern with: lo ngại về; liên quan tới (chủ động) 

be concerned with: có liên quan tới (bị động) 

Dịch: Sự bảo tồn cũng có liên quan tới việc cải tạo đất đai bằng cách làm thuỷ lợi cho sa mạc, tháo nƣớc ở 

các đầm, hoặc lấn biển. 

 

36. B 

Đề: Mục đích chính của tác giả khi viết bài luận là gì? 

A. Để đề xuất một giả thuyết nhằm giải thích những vết đen mặt trời  

B. Để mô tả bản chất của những vết đen mặt trời 

C. Để so sánh vùng tối và vùng nửa tối của những vết đen mặt trời 

D. Để biện luận cho sự tồn tại của từ trƣờng trong vét đen mặt trời 

 

37. B 

Đề: Từ controversial ở đoạn 1 gần nghĩa nhất với _____.  

A. đƣợc chấp nhận rộng rãi  

B. còn đƣợc tranh luận 

C. mới đƣợc giới thiệu  

D. rất phức tạp 

 

 

 

38. B 

Đề: Các hạt năng lƣợng mặt trời đƣợc bắn vào không gian bằng _____. 

A. các nguyên nhân chƣa xác định  

B. nhiễu động của gió 

C. các dòng sông nhỏ trên bề mặt mặt trời 

D. thay đổi về bầu khí quyển trái đất 

 

 

39. D 

Đề: Từ particles ở đoạn 1 nói đến ______. 

A. các vụ nổ dạng khí ở trong bầu khí quyển  

B. tia sáng từ mặt trời 

C. dòng chảy trên mặt trời  

D. những mảnh vật chất nhỏ từ mặt trời 

 

40. C 
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Học thuyết về vết đen mặt trời ______. 

A. không đƣợc coi là quan trọng  

B. đƣợc chấp nhận rộng rãi 

C. còn nhiều bất đồng  

D. còn khá mới 

 

41. A 

Từ consequently ở đoạn 3 có thể đƣợc thay thế bằng ______. 

A. kết quả là  

B. tuy nhiên  

C. không nghi ngờ gì 

D. theo cách này 

 

42. B 

Đề: Vết đen mặt trời xuất hiện dƣới dạng nào? 

A. Một vết với kích cỡ khác nhau  

B. Hai vết 

C. Một trăm hoặc nhiều hơn các vết 

D. Các nhóm hàng nghìn vết 

 

43. C 

Đề: Ý chính của bài đọc là gì?  

A. Kế hoạch cua James Madison để tạo một cơ cấu chính phủ bền vững cho hính phủ Mỹ. 

B. Sự khác biệt về dân số và sức mạnh tƣơng đối giữa các bang cũ. 

C. Sự bất đồng tại hội nghị lập hiến và các thỏa hiệp sau đó. 

D. Những điểm quan trọng nhất của kế hoạch tiểu bang 

 

44. D 

Đề: Có thể suy luận ra từ bài viết rằng ______. 

A. mọi bang trên quốc gia đều lớn hơn Delaware 

B. Delaware không có quyền lợi gì tại hội nghị lập hiến 

C. Virginia lớn hơn 10 lần so với Delaware 

D. Delaware có dân số nhỏ so với các bang nhƣ Virginia, New Jersey, New York. 
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45. B 

Đề: Có thể suy luận ra từ bài viết rằng Điều lệ Liên bang ______. 

A. cho phép các bang nhỏ đàn áp các bang lớn hơn  

B. chỉ dành cho một chính phủ trung ƣơng yếu kém  

C. đƣợc chỉnh sửa và giớ thiệu dƣới tên kế hoạch các bang lớn 

D. nhận đƣợc sự ủng hộ từ đa số các đại biểu tại hội nghị 

 

46. B 

Đề: Theo nhƣ bài viết, vào năm 1787, bang nào có số dân ít nhất? 

A. New York  

B. Delaware  

C. New Jersey  

D. Virginia 

 

47. D 

Đề: Ở đoạn 2, cụm từ this plan nói đến ______. 

A. kế hoạch đƣợc để xuất bởi cơ quan lập pháp quốc gia  

B. kế hoạch tiểu bang 

C. kế hoạch thỏa hiệp  

D. kế hoạch các bang lớn 

 

48. B qua câu a cooling of tempers seemed to come with lower temperatures. 

Đề: Theo bài viết, thời tiết có ảnh hƣởng gì đến Hội nghị lập hiến? 

A. Trời lạnh làm hội trƣờng độc lập trở nên không thoải mái để làm việc  

B. Trời nóng làm tranh cãi gay gắt hơn trong khi trời mát sẽ dẫn đến thỏa hiệp 

C. Thời tiết xấu làm một vài đại biểu không dếnđƣợc Philadelphia 

D. Các đại biểu vội vàng đạt đƣợc thỏa hiệp trƣớc khi mùa đông đến 

49. D 

Đề: Lựa chọn nào KHÔNG đƣợc đƣa ra trong bài viết là một trong những quy định của Đại thỏa hiệp? 

A. Mỗi bang sẽ có 2 thƣợng nghị sĩ  

B. Quốc hội sẽ đƣợc chia thành 2 cơ quan. 

C. Chỉ có một ngƣời đứng đầu quốc gia 

D. Tổng thống sẽ đƣợc chọn qua phiếu phổ thông.  
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50. D 

Đề: Tác giả dùng cụm từ broke the logjam ở đoạn 3 để thể hiện rằng ______. 

A. Hội nghị kết thúc đột ngột 

B. Tình hình đã trở nên tuyệt vọng 

C. Chính phủ đã sắp phá sản 

D. Một vài vấn đề lớn đã đƣợc giải quyết 


